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Set Id : 62297 14 BATCH3 D.El.Ed Odia_08NOV2020

Section 1 - Paperl-English Language

No. of Questions: 10

Passage Questions (1-5):
Read the passage and answer the questions that follow:

“I could stand the aunts, but there are dozens of cousins, dreadful boys all of them, and | detest
boys! Some of them came to see me last Wednesday, but | was lying down, and when auntie came
to call me | went under the quilt and pretended to be asleep. | shall have to see them some time,
but | do dread it so.” And Rose gave a shudder, for, having lived alone with her invalid father, she
knew nothing of boys, and considered them a species of wild animal.

“Oh! I guess you'll like 'em. I've seen 'em flying round when they come over from the Point,
sometimes in their boats and sometimes on horseback. If you like boats and horses, you'll enjoy
yourself first-rate.”

“But | don't! I'm afraid of horses, and boats make me ill, and | hate boys!”

1) Why did Rose shudder?

A) She didn't like books.

B) She knew nothing of boys.
C) She saw a ghost.

D) She was feeling cold.

2) Why did Rose pretend to be asleep?

A) She didn't want to study.

B) She wanted to help others.

C) She was tired.

D) She didn't want to meet the boys.

3) How do the boys come?

A) Walking.

B) On boats or horses.

C) Running down a mountain.
D) In a carriage.

4) With whom had Rose lived?
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A) Her brothers.

B) Her aunts.

C) Her invalid father.
D) Her family.

5) Why did Rose feel apprehensive about her cousins?

A) It was a new experience for her.
B) She didn't get to see her father.
C) She wanted to study.

D) Her cousins were rough and rude.

6) Which of the following is a correct sentence with respect to use of words: complement or
compliment

A) The ship's compliment was reduced to below 80 percent due to a number of crew proceeding
on leave.

B) The Captain received a big compliment from the Admiral for his successful mission.
C) | gave my complement to the lady on her cooking.

D) Girish received a huge complement from his girlfriend when he won the final match.

7) The phrase "Clean yourself up" means

A) to make yourself available
B) to make yourself invisible
C) to suit up for an occasion
D) to make yourself clean

8) Fill in the blank with correct prefix or suffix:

After many years he won the leg_ battle.

A) age
B) ary
C)al

D) ate
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9) Which of the following words is correctly spelt?

A) inalinable

B) inalieniable
C) inalienable
D) inalineable

10) Which of the following alternatives explains the phrasal verb "Connive at something"?

A) to arrive at some place that you have already been to
B) to ignore something that you know is wrong

C) to accept something that you don't know

D) to accept the right thing
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Section 2 - Paperl-Education and General Awareness

No. of Questions: 5

11) Which is the best way for disposing hospital wastes as per World Health Organization?

A) Landfilling
B) Recycling
C) Incineration
D) Composting

11) ¢ AYY A0 AN 6946 SIPAIFIQ MY FFIAR UG A6HIT agla 2GS ?

A) AI56R 621G

B) gasquegiq @4l
C) egicas @QQ!

D) ¢lie Q@QIQl

12) Which of the following features does not come under Indian Constitution unitary spirit?

A) Veto Over State Bills:
B) Integrated Judiciary
C) Emergency Provisions
D) Bicameral legislature

12) GG aaig 664 6384C QI06Ta QIR IRIPS AR AXIRER 2IEA §IF ?

A) Q94 IR A06Q 6866
B) 270 QYaaIRe!

C) 9811916 Q4ag
D) Qai8e Qi

13) The NCTE has a regional committee in which of the following regions -

A) Bengaluru
B) Mumbai
C) Patna
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D) Ahmedabad

13) Safige rengse fuQ 6ae0Isa YRATRR ZreRe ¢fd I9E9 -

A) 696199
B) gai@

C) asal

D) geReiele

14) Corporal punishment for children falls under which article in the Indian Constitution?

A) Article 21
B) Article 7

C) Article 29
D) Article 26

14) Saicies o REJIAIN VFTSEEIE (SI1915e 99) ARGTH ARRS 66 IR ZRAFER 262 ?

A) il 9
B) ual ©

C) diel 9¢
D) dial 99

15) The Education Guarantee Scheme is a programme to set up alternative schools where there is
no formal schools within the radius of

A) 2 kms.
B) 1 km.
C) 3 kms.
D) 1.5 kms.

15) 3o 48l 6QIR7! 6206 a8 FMIRA QUL Jial P AN 6a0I6a B 344 afda axea 6718 ALAUFR SUea I

A)?
B) ¢
C)n&
D) &.8 &@.

) D D)
D D D
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Section 3 - Paperl-Reasoning

No. of Questions: 5

16) How many letters are there in between 12th alphabet from the left and 8th alphabet from the
right, when letters are arranged as per the alphabetical order?

A) 9
B) 8
C)7
D)6

16) sacecan adeiel 8 2QaINT 2aegGQ AN, AIAQ @ 90F ad ue elaleg [ od Auica 6RERIS 2sa QFQ

A) ¢
B)r
C)o
D) o

17) In a certain code language, if the word EDUCATE is coded as FEVDBUF, then how will the word
MARKET be coded in that language?

A) NSBFLU
B) NBSLFU
C) NUBSLF
D) NCSLEU

17) 9@ 544 eale ausice, & EDUCATE ¢s FEVDBUF aiesa sqie 62108, cose 6a2 augica MARKET «ae@ﬁi @ad
6le YT ?

A) NSBFLU
B) NBSLFU
C) NUBSLF
D) NCSLEU

18) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.
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2, if statement Il alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and |l taken together are NOT sufficient to answer the problem.

Adults in a city either ride a bicycle or drive cars. How many adults in the city ride bicycles?
I. 85% of the 20,000 adults in the city drive cars.
II. 17,000 adults in the city drive cars.

A) 1
B) 2
c)3
D) 4

18) FOIMYS ggedasa 686 9q :
0. 9@ Q96 | anQiie AR 699lq asaa LY |

9. 96 QARG Il vgdal anaiia AR caeig A52a EET |
M. 9@ QA4 | v || anag ¥RI0 G2I1de 6059 AN AR 69! Alsl AN 26T |

¥. 9@ Q98! | ver || eewq ¥aI0 A2Ide c0se @ anaia QAR saal aIe adyg g6 |

JeQER QUIANER ARECAR ORI FAU QIR OIS | ALRER 6066 Wl QAY NS ARERR, ORI ?
|. aga@ 90,000 QUAT CRINQ 8% AR RIS |

Il. 226@ 9,000 90 4 QIR RIS |

A) ¢
B) ?
c)ma
D)®
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19) Mohanlal starts driving his car towards east. After sometime, he turns left and continues to drive.

After some time, he again turns left and continues to drive. In which direction is Mohanlall driving
finally?

A) East

B) West
C) North
D) South

19) 6120RIR % F18Q JL 2Ieg SRR 2RA AR | FF AFA 961, 6d AN A GIF SRR FIR AFsA | 78 AN V6Q, 6a 9 g
2R GIE PRSI FI Qe | 6IT6R CFILRRAIR 94 Ge5Q CIF EAINST 7

A) 9@
B) @da
C) aaa
D) @de

20) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.

2, if statement Il alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and Il taken together are NOT sufficient to answer the problem.

Isa#b?
l.La>b+1

lLa<b+2

A) 1
B) 2
C)3
D) 4

20) FINGS ggq9easa 696 903 :
¢. 95 G994l | anaiia RVR 6991g 9628 26T |

9. 98 QR4 |l v@fel anaia ARQ caqlg Asaa 26T |
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7. 9@ Q8 | v || aeng 910 FaIde 6069 AR AR 6291 AIs ATHIY 26E |

¥. 98 Q8 | ver |l ee0g 9910 52189 6669 @ AR AR 6991 Tia ITIIY G6< |

aFbased?
l.a>b+ e

llLa<b+9

A)®
B) ?
c)m
D) ¥
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Section 4 - Paperl-Teaching Aptitude

No. of Questions: 10

21) A higher order thinking skills question asked in the class will belong to which of the following
levels?

A) Knowledge

B) Synthesis

C) Understanding
D) Comprehension

21) 694160 TEQLINAR! IQ 8% A1 SRS OFG! 94 FETIs 20gEe AR AAER 22T 629 ?

A) Q60
B) degdq
C) 2939
D) @6¢162QR

22) A teacher corrects a student who gives a wrong answer and then asks him to repeat the right
answer, politely. What do you think is the purpose of this reinforcement?

A) Humiliating the child for the response

B) Punishing the child for the response

C) Strengthening the correct response of the child
D) Praising the child for the response

22) 266 2GS 92 AR 9N 2RQ NI R66 219 TEARIG @RS I 0'A6R BIeg A0 AR JRAI9E *deIg @23 | 2104
42 QUIPRER QERAIR @'¢ 6917 QIQRS ?

A) 9554 dial a1 20aIFe e8al

B) g66a as dnig 980 QA9

C) 8¢a a0 gogaIq aege ade
D) 9o&al AR daig geral @Gl

23) When was the UGC formally established?
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A) October, 1966 at New Delhi.
B) November, 1956 at New Delhi.
C) January , 1976 at New Delhi.
D) February, 1986 at New Delhi.

23) 953 6269 2QAFR QIF6R 9EFC cRIRdRI ?

A) UAFIER UCYRR, €99 6Q
B) Q2IGRI6E 96029, € ¢89 6Q
C) UEHER KGR R (92 68
D) uIGqea 6aq2Iat, € ¢ 6

24) Which five year plan particularly focused on ensuring one year pre-school education for children
entering primary school?

A) Eleventh Five Year Plan
B) Tenth Five Year Plan
C) Ninth Five Year Plan
D) Eight Five Year Plan

24) ced reidq caleal guve giafie dourRaca g6ed @9a9l dalfles AR Y@ 9da gIe dauea dal QRde 69l aase IR
co@eml ?

A) 99198 roQIde 6QIRE!
B) @aq roqide caieql
C) 790 roqide 6aIea!
D) 4aq el 6a154!

25) The scheme of Operation Black Board (OBB) was launched in the year

A) 1985
B) 1986
C) 1987
D) 1988

25) 9@ od 2060aR N 6916 (698)a 6QAIPR AR FAIAINR

A) eCrs
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B) ecro
C) ecro
D) ecrr

26) Show and tell is a peer teaching strategy. Which of the following instances indicate this strategy?

A) Each child brings an object to the class and discusses the story of the object
B) The teacher shows things and dictates notes to the whole class

C) Children observe different things and use video resources to tell

D) Children make use of the computer to observe things in detail

26) 69dig e 907 6208 1@ AN ARG 6F19R | FIAYS FrIg 69E 1B AER1E AR ?

A) 96640 ORI 68419 U9 9 UGB 6 99A QLA AU6A LSRG 76D
B) dse 66egGe seuid ue* arg 6g4iq a8 SRS

C) dainise a8 #feq IR ALRIER 6QHE wer s2aig G486 0aq FIeaI8 7ad

D) s6agbe adcaa n9sa 6agel sl GRAIFIEE SR QLR @0

27) Which of the following are examples of Negative nonverbal reinforcement?

A) Expression of annoyance, smiling , impatience
B) Expression of annoyance, frowning, smile
C) Expression of annoyance, frowning, impatience
D) Expression of frowning, impatience, smile

27) 39Rge AuQ 6208 ARIAINR AC6YR QIR QIS4 ?

A) 3ad9a 26948, F19-919 2d9l, 6INiL1Re!

)@ Q560 208, 918, NL-710 2JQ|
C) 30890 20948, 918, A421RE!

)fu;u@ 2648, udieieel, F1R-919 @3

28) Which of the following actions by teachers help students to construct their own thinking?

1. Teaching through textbooks and for examinations
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2. Looking for and appreciating one correct answer
3. Seeking student's point of view
4. Answering all questions put by students

5. Valuing students questions and urging them to find answers for themselves.

A) 3,4
B) 3,5
By, 2
D)2 4,5

28) dges SoAge QIIgee g 696 NG a9l QI FIRRIGINIRT TR0 SRR G07 GGFIER ALIYY |ER ?

2. AI0YZAR FIRIAES e RISl QIR AR
9. 66I5N A0Q Qe sEIFD e geral /G

. YIRS Q6N RI69Ig 60T KR!
Y. fIeFlee Qe Ao 278 999 QAR 629

8. IRAInw J9gg 998 6991 99 621G YRG! F6R 6HIHAF KT

A) N,¥
B) .8
C) &2
D) 9.%.8

29) In educational institutions which of the following is considered as an antithesis of discipline?

A) Caste

B) Nationalism
C) Religion

D) Democracy

29) SRIGUIRYLRER NS FUQ 69907 FHRIQ JEAAR NIES I AIRAN ?

A) Q15
B) qicnaol
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C) ugl
D) ggoa

30) The type of learners who prefer to use image, maps and graphic representation for learning is
referred to as

A) kinesthetic learner
B) auditory learner

C) visual learner
D) sensory learner

30) daidivies gela, caudise ddel aa 98ed, aede e 580 QU0 QIeeR afelg 098 @68, 6ANRT
gelang

A) 91818 QIdiaRIa S
B) 6giel dimiel

C) qeva@e asie

D) 26raqdie asid
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Section 5 - Paperll-Odia Language

No. of Questions: 15

31) F6QIB CRIQ 690F 1@ A°YR I UG

A) g
B) @
C) v
D) @

32) ‘2a’ a0ad rge ‘gea’ 260 LS IR IR Qg |

A) 299Ie
B) zoge
C) 2aq@
D) 2994

33) 6¢]I8 FEAWAITT AIQ 6RAT AMAIFFOIQ /R ?

A) 6qiIe
B) @uae
C) da

D) caa

34) ‘aqie’ gaq Fadeldsalie 98 QI8 |

A) disRie
B) a2
C) wraia
D) gl

35) AIgQ 9GUL 62164l 618 G106 62RICRER Y26R 6966 IR UASER W6E?
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A) 9
B) o
C)y¥
D) &

36) Q6419 IQ 62RE Y@ QLR R

A) 216a
B) &g

C) dage
D) aQié

37) ‘e’ dIg QUeLIa FAILINNSI AUANYS I9Eg QIS |

A) 982ia
B) Q¢4
C) 2adle
D) &6l

38) ‘aoric 6291’ 2d 48 @Q2R Q0] 91 |

A) 21 QI8 2ER AR

B) 2I4Q gReMe 6aIe QRS
C) 2 64

D) &gt 9eIQ!

39) ‘Qe6a 26 6an 939 QEa 22 FaUd @ |

A) 98 98199

B) 98 Q&<

C) @aday ge 6ol
D) g9ia ¢iael
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40) 6RIRT QR QAR — 0I6Q QLR & JRIQ AR ?

A) Qeaa
B) Q66196
C) acqia

D) @ai

41) ‘esq09’ 99a FUGAIIERRIP 98 QI |

A) 26908
B) 29660@
C) 6098
D) G

42) ‘QI0Q" 407 6 2269 080G I8 62RE?

A) 08 Q91N
B) @uqieel

C) 2106 268l
D) daiauiee]

43) ‘gq8’ adea ‘@2’ goua 6QIs6 606 999 QI8 |

A) egal
B) aaiqal
C) aqul
D) ag

44) JQQ 2G U16Q Qg8 — J0I6Q UG @ gRIQ F68194)

A) J68T6Q F66T4]

B) @0l S6a941a 66194
C) @l S6894

D) qiay Q6896
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45) ‘291’ gaa AnId6RIIF 98 QUS|

A) 919
B) 4@
C) 9o
D) @1e
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Section 6 - Paperll-Mathematics

No. of Questions: 15

46) If 3x + 12 =2x - 13, then x =

A) -20
B) -25
C) 20
D) 25

46) 9@ 3X + 12 = 2x - 13, 6669 X =

A) -20
B) -25
C) 20
D) 25

47) AABC and APQR are similar triangles such that side AB is proportional to side PQ. If the altitudes

drawn to the sides AB and PQ are 24 cm and 16 cm respectively and PQ = 4 cm, then what is the
length of AB?

A) 12 cm
B) 8 cm
C)6cm
D) 16/3 cm

47) AABC we» APQR 62288 294 69, 6006@ AB aif PQ 286 aipaide coiq 088 1 98 AB e PQ aigsa @90 s4l
QIeeel 6IAG] oeigsd 24 sad wes 16 sad e PQ = 4 624 s2igelN, 6669 AB @ a9 6766 ?

A) 12 sad
B) 8 sad
C)6 sad
D) 16/3 sad

48) Set A={ 2, 3, 4, 8, 9}. How many pairs of co-prime numbers are there in the set A?
A) 2
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B) 3
C)4
D)5

48) 699 A={ 2, 3, 4, 8, 9 }1 629 A 60 A2-6(12@ Q"HIQ 6R6CIC Yo 283 ¢

A) 2
B) 3
C) 4
D)5

49) An amount of 10,000 is invested for certain number of years at 12% per annum simple interest.
If ¥ 4,800 is the simple interest earned, then the number of years for which the money is invested is
A) 1

B) 2

C)3

D) 4

49) oife aa9 12% 6o G wreye od aiet T 10,000 ddsaie aauan | 9& T 4,800 aaq gu fse, 6069 16 od AR oF
{Feala 62108

A) 1
B) 2
C)3
D) 4

50) The number of marbles with Rahul is one-third of the number of marbles with Anuj. Anuj gives If
the difference between the number of marbles with Anuj and Rahul is 30, then what is the number

of marbles with Anuj?
A) 15
B) 25
C) 30
D) 45
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50) cigas aigea el AISM el AQew AIMER B9l FIOM TR I9-9o1ard 2ET | 2ge FuS 0T UFS I ALRS AlHeR 8Ql
AISM T IR AITM Mo 24, 6669 UYRT AW ARl FlIm Q T 6760 629 ?

A) 15
B) 25
C) 30
D) 45

51) In a triangle ADEF, side EF is extended to G such that angle «DFG = 110° and angle 2DEG =

65°. A is a point on DE and AF is the angle bisector of the angle 2DFE. What is the measure of the
angle 2DAF?

A) 85°
B) 80°
C) 95°
D) 100°

51) Gee ADEF e ag EF ¢ G adye deia qaiad saad exie £DFG = 110° 9o sqisl £DEG = 65° 62@1 A 62@8
DE aasa ve 89 e AF c208 2DFE sqiga 6918i@ ANQHER | saiel ZDAF a a1a 6966 629 ?

A) 85°
B) 80°
C) 95°
D) 100°

52) How many numbers below 90 and other than unity exist, such that the HCF of that number and
90 is unity?

A) 16
B) 17
C) 18
D) 23

52) 90 @ @6 9e° 9@ GG 6a60IT Tall 008, caURE 628 cravia aalg ¥e 90 62aE 9e ?

A) 16
B) 17
C) 18
D) 23
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53) A mobile phone is sold for ¥ 7,830 after allowing a discount of 13%. What is the marked price of
the mobile phone?

A) % 8,500
B) 9,000
C) 2 9,200
D) 2 10,000

53) 13% &b sael asa 9 saRiam 6@ T 7,830 ca 88 941 sa19iaMm 601Qa AT gau @'4 7

A) Z 8,500
B) Z 9,000
C) 9,200
D) Z 10,000

54) The ratio of students in 3 sections A, B and C of a class are 3:4:5. There is a proposal to increase
these seats by 50%, 60% and 70% respectively. The ratio of increased seats is

A) 14:15:16
B) 15:16:17
C) 16:17:18
D) 15:24:35

54) sa154 sg4i1a 3 Gais A, B e C sa aigaies 2qae ¢ead 3: 4: 519910 AQgéq caigsa 50%, 60% e 70% 9F
@del1g goIe 628 | ofe JdQgden agale 6208

A) 14:15:16
B) 15:16:17
C) 16:17:18
D) 15:24:35

55) If P = The set of multiples of 2 less than or equal to 30 and Q = The set of multiples of 3 less
than or equal to 30. Then (P N Q) =

A) {12,24}
B) {6, 12, 18, 24, 30}
C) {4,8,12,16,20,24,28}
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D) {}

55) 2@ P = 2a gdcea 644 aiel 30 a@ aqie @l @ 6269 ve* Q = 3a gdoaa 649 aiel 30 a@ aqie @7l @6 6269 | 6669
(PNQ)-=

A) {12,24)

B) {6, 12, 18, 24, 30}
C) {4,8,12,16,20,24,28}
D){}

56) Which of the following is the largest 5 digit perfect square?

A) 96,100
B) 84,100
C) 99,225
D) 99,856

56) Sqfige cuQ 6Rad 6208 S 2w Jda Q@@@G} ergsl @d 26 ?

A) 96,100
B) 84,100
C) 99,225
D) 99,856

57) What is the measure of each interior angle of a regular heptagon with side length 6 cm?

A) 120°
B) 128.57°
C) 134.28°
D) 140°

57) aif aa 6 6ad §5a fafie AYYW 9se4R 2BY 6RIER A1 &4 ?

A) 120°
B) 128.57°
C) 134.28°
D) 140°
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58) The ratio of the present ages of Pranav and Keerthi is 6:7. Seven years ago, the ratio of their
ages was 5:6. What are the present ages of Pranav and Keerthi?

A) 42 years and 49 years
B) 49 years and 56 years
C) 56 years and 63 years
D) 63 years and 70 years

58) geie ¥e* G618 QRAIR eaga 2ae 6: 71 ale 9 96F, canies 9a2a 29aIe 5:6 2RIl gae e GHIEQ QRAIR ead
6@ee ?

A) 42 d 49 od
B) 49 od 56 ad
C) 56 <4 63 ad
D) 63 ed 70 <@

59) Forany two sets Xand Y, X - (X-Y) =

A) X
B) Y
C)Y-X
D)Xny

59) ca 6d1ad 9@ 649 X e Y aia, X - (X-Y) =

A) X
B) Y
C) Y- X
D)Xny

60) A four digit perfect square is such that the number formed by first two digits is a perfect square

and the number formed by last two digits is also a perfect square. Which of these satisfies the
condition?

A) 2,536
B) 8,164
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C) 3,696
D) 1,681

60) 9a qf e f98 g4 99 YAA 60 92N 9F AF QIAl 906 T 6208 I8 Y4 RC I 699 QR AT YAl 06 Ul A 9K
rgd ed | MaIQ 6896 LB Jas @6a ?

A) 2,536
B) 8,164
C) 3,696
D) 1,681
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Section 7 - Paperll-Social Science

No. of Questions: 15

61) Which among the following options is a CORRECT reason for the seasons to occur in different
parts of the Earth?

A) Earth has a perfectly round circular shape
B) Earth has a tilted axis of rotation

C) Earth is located at a third position from the sun in the solar system
D) Earth is the only planet of the solar system having human presence

61) Sodee Seagde orIQ 6aat gaaia 88y assa agee AIFRIR e AR Fas ?

A) geeia e agd cain QRINIR 2193 28

B) 92910 @@ 62100Raq! Qde 28 028

C) sdafrensa qaiat gdIs0Iq Qo198 YINsa aad

D) 6dIaerensa gaet Iaelg g2 6091016Q 719 R0gE 088

62) Which among the following options is the hottest layer of the Earth?

A) Mantle

B) Crust

C) Inner Core
D) Outer Core

62) FoRdc Seagle auig 6adE QaLIR AQ0IQ A6Y 3R ?

A) a1glee

B) gae

C) 223 6294 250
D) QIgy 6999 28R

63) What does the colour Saffron in the National Flag stand for?

A) Sacrifice and Courage
B) Fertility of the land
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C) Life in movement and death
D) Peace and Truth

63) @Io1a ToIRIER &9 Flerdl Q°C RILIA JO1@ 26T ?

A) 999UR e* ALY

B) ¢fia aaael
C) 91996 98 e 6y
D) 913 e 2oy

64) A horse sacrifice ritual in the Vedic religion is usually known as

A) Vishwa Yagna

B) Purushamedha Yagna
C) Ashwamedha Yagna
D) Rajasuya Yagna

64) 6309 UF6Q 6AIGI AR AR ARIAGS 92 Q116 FEIFE

A) 39 a8

B) geaen o
C) ager o
D) Qipige QO

65) The poet Sugathakumari played an important part in which of the following protests?

A) Silent Valley Movement

B) Chipko Movement

C) Anti-Arrack Movement

D) Narmada Bachao Movement

65) @8 goaIRAIRN FYRAYE MRIQ 624 CAIPFEA IR 9ReQd Qi gea G2ER ?

A) AREHE QIR ARIDES
B) S06al 26

C) 2ArG-2I60e 2leRlne
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D) /diel 9918 2IcRIRe

66) A "School Garden" is included in which of the following spheres of the Earth?

A) Hydrosphere
B) Atmosphere
C) Geosphere
D) Biosphere

66) QARIQ IS 6AGYLR FRUIQ EAATER IR "FMIRG QNIQ" 2ASFD?

A) 210621799
B) 16qi@aQ
C) @60i0Q
D) qieai@oa

67) Which schedule of the Constitution of India prohibits the transfer of tribal land to private parties
for mining

A) Fifth Schedule

B) Third Schedule

C) Ninth Schedule

D) Twelth Schedule

67) @ieoq AL 699 A6 e TR 2 9F 2999 FA1] RS FARE

A) Toe1 o1
B) @610 g%
C) @99 ge1
D) Qo4 e

68) January 26th, 1957 is known for which of the following reasons?

A) Constitution of Jammu and Kashmir came into force
B) Second Parliamentary term began
C) Second General Elections

D) Second five year plan terms started
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68) SIgaIat 99, € 89 RIS 6@ QS AR FSNYE ?

A) 9IF FIEQ AT ATIFIN 624

B) 010 °A@1a QIAIRIR 2103 62
C) Qo1a aIee! aQlee

D) @010 are Q910 6QIeR! U UIGR 627

69) The term used in geography that means 'Half of the Earth' is

A) Globe

B) Pole

C) Grid

D) Hemisphere

B9) gscIRea e 9 AILIR 22 6208 ‘gl 2’

A) 6919
B) 6719

C) g1

D) seique

70) Who founded 'All India Harijan Sangh'?

A) Raj Narayan

B) Jai Prakash Narayan
C) Mahatma Gandhi

D) B.R. Ambedkar

70) ‘20 Qa1 2690 XA’ &9 gosl @8dsa ?

A) QU RIS
B) @2 geid QIuadl

C) ALIg)l S
D) §.2R.26709
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71) The German Indologist who is credited with the German translation of the holy Hindu texts, the
Rigveda is

A) Megasthenes

B) Karl Marx

C) Heinrich Roth

D) Friedrich Max Muller

71) RAIQ QEAERFR, I 9Rg 89 QU6Re gaa iR 2geIQ AF0 IR AIRSS

A) 60616899

B) @ia aug

C) 6259 6a1g|

D) §@Q quIg a6me

72) Which of the following statements is correct?

A) Nitrogen oxides can also be produced by lightning
B) Sulfur dioxide is not the cause of acid rain
C) Distilled water has a Ph of 8

D) John Evelyn coined the term Acid Rain

72) 8qhde YRQGgFe AuQ 6966 AOR 26e ?

A) PEAG YAl FINEEIEHT AFRE Tl G 6ARAER
B) 9RIq ciaagiae ele) odia Q¢ Q5L

C) 58qe qIeebQ I G4s 088

D) @& I04e 2¢, 98l 99Q FEARR FAUSR

73) A Pro tem speaker is elected by approval of which of the following dignitaries?

A) By the President

B) By the outgoing Speaker

C) By the Prime Minister

D) By the members of Lok Sabha
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73) 36918 69Q QIRIGEY MIF APEFILR F6E IR AYIA AT FATE 22T ?

A) Q89 Qal

B) Saia 62a8el Q1926 QIal
C) QIeagis ol

D) 6AI@AQIQ AQAAIGT Il

74) The river that passes twice through Tropic of Capricorn is

A) Mahi River

B) Congo River
C) Nile River

D) Limpopo River

74) 00Q QI8 690 QR AR A1 6208

A) 712 91

B) @6at @a1
C) 61e @Qf

D) festical gat

75) What was the main cause of Gandhi's Champaran Movement?

A) The security of rights of Harijans
B) Civil Disobedience Movement

C) Maintaining the unity of Hindu society
D) Solving the problems of Indigo workers

75) QIfQIS oHIQL 2CIRER Y FIQS @4l oAl ?

A) 2090F AARIRQ oS

B) QI08@ 2Ry 216190
C) 29 AWRQ 9IRS AR QS
D) @éleal fhaies AR AL
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Section 8 - Paperll-Science

No. of Questions: 15

76) Which reaction gives a preliminary idea of the presence of CO:z gas in the solution?

A) Ca(OH)2 + 2C0O2 — Ca(HCO3)2

B) Ca(OH)2 + COz2 — CaCOs + H20
C) Mg(OH)2 + CO2 — MgCOs + H20
D) 2NaOH + COz — Naz2C0sz + H20

———

76) 69 goaal 9aélsa CO2z quaa aadé Fe0ea giafie 2Iasl sagalrd ?

A) Ca(OH)2 + 2C0O2 — Ca(HCO3):

B) Ca(OH)2 + CO2 — CaCOs3 + H20
C) Mg(OH)2 + CO2 — MgCOs + H20
D) 2NaOH + CO2 — Na2COs + H20

77) Which among the following condition can decrease the rate of evaporation of liquids?

A) Decrease in pressure
B) Increase in pressure

C) Increase in temperature
D) Increase in humidity

77) @9Ae 89gl FIQ 6965 9aR JIda VPR 2R 21 FRAIGS ?

A) §196a 212

B) qsa 98

C) eladigiea 9
D) 219eica qF

78) One Kilo-Watt-hours is equals to how many Joules?

A) 180000 J

B) 3600000 J

C) 540000000 J
D) 7200000000 J
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78) @ @6MI-¢IQ Y& 6960 gn AFE QAR ?

A) 180000 J

B) 3600000 J

C) 540000000 J
D) 7200000000 J

79) Choose the option that correctly represents a gram-positive eubacterium

A) Bacillus

B) Cyanobacteria
C) Rhizobium
D) Clostridium

79) 4@ gI-a66a gusedang A0R aiese adineel e85 § Qlag

A) 9199

B) QieqIeyeqeel
C) QIaeaIRaq

D) 69/86aa

80) Find the INCORRECT statements with regards to Papilionaceous corolla

A) The largest petal is called Standard or Vexillum

B) The two smallest anterior petals are called keel petals
C) The standard petal overlaps two lateral petals

D) The two lateral petals are called keel petals

80) aiddsaidnq aide sad SQQEIE Ade g

A) 99Q 9@ IR VGIC G2 6RFAN Q21T

B) 20¢ 200 ARESAAR 630INg AN 6ATR QRIKIN
C) QUGS 609IR 9T AICCAR 696G TR FEFY
D) 98¢ QI 69681Rg AR 69CR GLIAI
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81) Select the chemical reaction in which conc H2SO4 shows oxidizing property?

A) Hz2S + H2S04 — S + SO2 + 2H20

B) 2CH3CH20H — C2Hs50C2Hs + H20 (in presence of conc H2S04)
C) Na2COs + H2S04 — Naz2S04 + CO2 + H20
D) 2Al + H2SO4 — Al2(SO4)3 + 3H2

81) aiaiadie 9639l oae *ag caadsa aearses H2SO4 2geine Q;léwﬁ 694G

A) H2S + H2S04 — S + SO2 + 2H20
B) 2CH3CH20H — C2Hs0C:2Hs + H20 (aqassge H2S04Q QAFG)

C) Na2€0s3 + H2SOs4 — Na2S04 + CO2 + H20
D) 2Al + H2SO4 — Al2(S0O4)3 + 3H2

82) Which of the following property is unique for crystalline solids?

A) They show anisotropic behavior

B) They show isotropic behavior

C) It does not have definite geometrical shape
D) It does not have ordered arrangement

82) aqdige sad JERIAT ITQ AR aisk AGGY ?

A) sagise @T¢ 6G9R 2ioad gode a6
B) sacics QAQFRIL 2ioad gade aad
C) ¥@ia 734 46w 2198 @@

D) voiq @@ Sa4IA QI8

83) Calculate the momentum of a toy car weighing 0.4 kg and moving with a velocity of 2 m/s?

A) 0.8 kg m/s
B) 0.2 kg m/s
C) 0.3 kg m/s
D) 1 kg m/s
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83) 2 M/s UQ6RA6R AR 0.4 @Y BRAR IR 6HRR IR Q A6RG 6R6C 621 ?

A) 0.8 kg m/s
B) 0.2 kg m/s
C) 0.3 kg m/s
D) 1 kg m/s

84) The produces Aflatoxin.

A) Aspergillus sp.
B) Rhizobium sp.
C) Fusarium sp.
D) Bacterial sp.

84) 2IFIESIFR agien e8|

A) 2198a9 9q 4.
B) cimseidan 9 4.
C) gadanwq d.
D) qusqdein 99 .

85) The outermost mucilage layer of the cell envelope in prokaryotes is

A) Plasma membrane
B) Cell wall

C) Glycocalyx

D) Cell plate

85) 6gIRIA66a 62 NGRRD | Y4l QDY QYRR IR 690F

A) ARSI §A62Q
B) @@ @Ig

C) SlesaiRing
D) 63® 69¢
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86) Anacardium occidentale is classified as which type of fruit?

A) sorosis
B) nut

C) berry
D) pome

86) aIRIRIadas 2F6ereia 694 dRI0R TR DR 654199 62108 ¢

A) sQlsaida

B) qiaia AQéey @

C) eaeai@ agey e
D) saie

87) Arrange the liquids in order of increasing surface tension values.

A) Mercury < Water < Ethanol < Benzene
B) Water < Mercury < Benzene < Ethanol
C) Ethanol < Benzene < Water < Mercury
D) Benzene < Ethanol < Mercury < Water

87) 998 69g% 7l 9F 276 6angee A@ig

A) aiee < 97 < QaIEN < 69639

B) ¢ < ace < 696819 < aaien
C) aaiem < 6968@ < o7 < AQe
D) 606812 < eaiom < alee < o@

88) Calculate the work done, if a force of 9 N is acting upon an object and the displacement recorded
is at 8 m towards the direction of the force.

A) 50J

B) 56J

C)72J

D) 85J

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

88) UG U@ Qg QU6Q AT @RI @@ 9 N §998° RQ @960 JaIIa 8 m 49, 6662 QIY @ 9IS QI @R
|

A) 50J

B) 56
C) 724
D) 85J

89) A plant disease called citrus canker is caused by a

A) Bacteria
B) Fungi

C) Yeast

D) Protozoans

89) AINTY NIQE A 1@ 28@ sale UL RIQEIQ 621R2I

A) @191

B) @a@

C) sena

D) 64166161

90) Which one of the following cell organelle is referred to as Disposal units?

A) Vacuoles
B) Lysosomes
C) Cell wall

D) Cytoplasm

90) SgRde 6am 2AIERR FRI 696g AR YAT NINER REIAIN ?
A) 959l

B) fiasaisain

C) 6q1d@ QIo1Q

D) 6@19 @
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